## City of Franklin, Tennessee <u>Tabulation of Bids</u>\*

Purchasing Office Solicitation N		(tree supply, p and Pinkertor		elated contrac	t services at E	astern Flank	Battlefield Par	k, Ft.
Notice to Bidders published in t Williamson Herald	9/4/14							
Number of vendors that were notified of	of /							
that responded to this solicitation for bi								
Date and time bids due and publicly open		00 PM						
Present at opening of bi	olivia Ste					lin; and Dee S	Settle, Suzanno	Ward and
Target meeting of BOMA at wh	ioh	•	v					
recommendation will be consider								
Bids received from:	Bid No.:	Is the bid submittal complete?	Does the bid MOES <sup>1</sup> ? / If not, how many exceptions do not MOES <sup>1</sup> ?	Total value of bid based on specified estimated quantities <sup>2</sup> and quoted unit prices:	Total value of bid based on recommended quantities <sup>3</sup> and quoted unit prices:	Payment terms:	Estimated time of completion of project after receipt of order:	Bid and associated pricing is valid and may be accepted through:
Instin Challen								
Justin Stelter P.O. Box 565								
			Diddon toloro					
Franklin, TN 37065 Justin Stelter, Owner	1 of 1	Yes	Bidder takes	\$40,464.70	\$40,464.70	net 30 days	45 days	12/31/14
615/596-1696			no exceptions					
justinstelter@gmail.com								
Justinisterer C ginani.com								
Office of Joel Tomlin, III, LLC 4115 Mallory Lane, Suite 100c Franklin, TN 37067 Joel Tomlin, III, President 615/445-5694 joel@joeltomlin.com	1 of 1	Yes	Bidder takes no exceptions	\$54,450.00	\$54,450.00	net 30 days	60 days	11/30/14
Swift Lawn and Land 416 Harpeth Drive Franklin, TN 37064 David Swift, Owner 615/838-8422 david@swiftlawn.biz	1 of 1	No (missing (1) required description of bid goods and services and (2) required references)	Bidder takes no exceptions	\$85,536.00	\$85,536.00	net 30 days	20-30 days	12/15/14
	-	1	·					

	Total					Calculated	stin Stelter*				
	Total					Calculated					
	Total										
	Total					extended					
	Total			G 1 1 . 1		pricing based					
		Total		Calculated extended	Quoted unit price per	on specified estimated			Total v	due of	
	specified	recom-	Quoted unit	pricing based	planted tree	quantities			bid bas		Total value of
	estimated	mended	price per	on specified	during year	during year no.			speci		bid based on
	quantities	quantities	planted tree	estimated	no. 1 of	1 of			estim		recommended
	-	•	prior to	quantities prior	maintenance	maintenance			quantit	es and	quantities and
<b>T</b> T .	at all	at all	provisional	to provisional	and guarantee	and guarantee			quote		quoted unit
Variety	jobsites	jobsites	acceptance	acceptance	period	period			prio		prices
Eastern Red Cedar	30	30	\$132.20	\$3,966.00	\$23.80	\$714.00			\$4,6	80.00	
Dogwood	3	3	\$158.42	\$475.26	\$23.80	\$71.40			\$5	46.66	\$546.66
orrest Pansy Redbud	3	3	\$158.42	\$475.26	\$23.80	\$71.40			\$5	46.66	\$546.66
Blackgum	19	19	\$184.64	\$3,508.16	\$23.80	\$452.20			\$3,9	60.36	\$3,960.36
Northern Red Oak	21	21	\$184.64	\$3,877.44	\$23.80	\$499.80			\$4,3	77.24	\$4,377.24
Southern Red Oak	21	21	\$184.64	\$3,877.44	\$23.80	\$499.80			\$4,3	77.24	\$4,377.24
Shumard Oak	23	23	\$171.53	\$3,945.19	\$23.80	\$547.40			\$4,4	92.59	\$4,492.59
White Oak	20	20	\$184.64	\$3,692.80	\$23.80	\$476.00			\$4,1	68.80	\$4,168.80
Sassafras	17	17	\$210.86	\$3,584.62	\$23.80	\$404.60			\$3,9	89.22	\$3,989.22
Sugar Maple	10	10	\$171.53	\$1,715.30	\$23.80	\$238.00			\$1,9	53.30	\$1,953.30
Red Maple	10	10	\$178.08	\$1,780.80	\$23.80	\$238.00			\$2,0	18.80	\$2,018.80
Shellbark Hickory	17	17	\$243.63	\$4,141.71	\$23.80	\$404.60			\$4,5	46.31	\$4,546.31
Chinkapin Oak	4	4	\$178.08	\$712.32	\$23.80	\$95.20			\$8	07.52	\$807.52
Frand totals:	198	198		\$35,752.30		\$4,712.40			\$40,4	64.70	\$40,464.70
			by the specifie	d estimated quan	tity. Per CoF I	nstructions for Bidders 19	c, quoted unit pricin	g prevails. The	1 0		
	White Oak Sassafras Sugar Maple Red Maple Shellbark Hickory	White Oak         20           Sassafras         17           Sugar Maple         10           Red Maple         10           Shellbark Hickory         17           Chinkapin Oak         4	White Oak         20         20           Sassafras         17         17           Sugar Maple         10         10           Red Maple         10         10           Shellbark Hickory         17         17           Chinkapin Oak         4         4           rand totals:         198         198	White Oak         20         \$184.64           Sassafras         17         17         \$210.86           Sugar Maple         10         10         \$171.53           Red Maple         10         10         \$178.08           Shellbark Hickory         17         17         \$243.63           Chinkapin Oak         4         4         \$178.08           rand totals:         198         198	White Oak         20         \$184.64         \$3,692.80           Sassafras         17         17         \$210.86         \$3,584.62           Sugar Maple         10         10         \$171.53         \$1,715.30           Red Maple         10         10         \$178.08         \$1,780.80           Shellbark Hickory         17         17         \$243.63         \$4,141.71           Chinkapin Oak         4         4         \$178.08         \$712.32           rand totals:         198         198         \$35,752.30   *For the Justin Steller bid, the oby the specified estimated quantity of the s	White Oak         20         \$184.64         \$3,692.80         \$23.80           Sassafras         17         17         \$210.86         \$3,584.62         \$23.80           Sugar Maple         10         10         \$171.53         \$1,715.30         \$23.80           Red Maple         10         10         \$178.08         \$1,780.80         \$23.80           Shellbark Hickory         17         17         \$243.63         \$4,141.71         \$23.80           Chinkapin Oak         4         4         \$178.08         \$712.32         \$23.80           rand totals:         198         198         \$35,752.30   *For the Justin Stelter bid, the extended pricin by the specified estimated quantity. Per CoF I	White Oak         20         \$184.64         \$3,692.80         \$23.80         \$476.00           Sassafras         17         17         \$210.86         \$3,584.62         \$23.80         \$404.60           Sugar Maple         10         10         \$171.53         \$1,715.30         \$23.80         \$238.00           Red Maple         10         10         \$178.08         \$1,780.80         \$23.80         \$238.00           Shellbark Hickory         17         17         \$243.63         \$4,141.71         \$23.80         \$404.60           Chinkapin Oak         4         4         \$178.08         \$712.32         \$23.80         \$95.20           rand totals:         198         198         \$35,752.30         \$4,712.40    *For the Justin Steller bid, the extended pricing calculated by the bidder by the specified estimated quantity. Per CoF Instructions for Bidders 19	White Oak         20         \$184.64         \$3,692.80         \$23.80         \$476.00           Sassafras         17         17         \$210.86         \$3,584.62         \$23.80         \$404.60           Sugar Maple         10         10         \$171.53         \$1,715.30         \$23.80         \$238.00           Red Maple         10         10         \$178.08         \$1,780.80         \$23.80         \$238.00           Shellbark Hickory         17         17         \$243.63         \$4,141.71         \$23.80         \$404.60           Chinkapin Oak         4         4         \$178.08         \$712.32         \$23.80         \$95.20           rand totals:         198         198         \$35,752.30         \$4,712.40    *For the Justin Stelter bid, the extended pricing calculated by the bidder for Shellbark Hicko by the specified estimated quantity. Per CoF Instructions for Bidders 19c, quoted unit pricin	White Oak         20         \$184.64         \$3,692.80         \$23.80         \$476.00           Sassafras         17         17         \$210.86         \$3,584.62         \$23.80         \$404.60           Sugar Maple         10         10         \$171.53         \$1,715.30         \$23.80         \$238.00           Red Maple         10         10         \$178.08         \$1,780.80         \$23.80         \$238.00           Shellbark Hickory         17         17         \$243.63         \$4,141.71         \$23.80         \$404.60           Chinkapin Oak         4         4         \$178.08         \$712.32         \$23.80         \$95.20           rand totals:         198         198         \$35,752.30         \$4,712.40   *For the Justin Stelter bid, the extended pricing calculated by the bidder for Shellbark Hickory does not equ	White Oak         20         \$184.64         \$3,692.80         \$23.80         \$476.00         \$4,10           Sassafras         17         17         \$210.86         \$3,584.62         \$23.80         \$404.60         \$3,90           Sugar Maple         10         10         \$171.53         \$1,715.30         \$23.80         \$238.00         \$1,90           Red Maple         10         10         \$178.08         \$1,780.80         \$23.80         \$238.00         \$2,0           Shellbark Hickory         17         17         \$243.63         \$4,141.71         \$23.80         \$404.60         \$4,50           Chinkapin Oak         4         4         \$178.08         \$712.32         \$23.80         \$95.20         \$80           * For the Justin Stelter bid, the extended pricing calculated by the bidder for Shellbark Hickory does not equal the unit pricing for the by the specified estimated quantity. Per CoF Instructions for Bidders 19c, quoted unit pricing prevails. The bidder was notified on	White Oak         20         \$184.64         \$3,692.80         \$23.80         \$476.00         \$4,168.80           Sassafras         17         17         \$210.86         \$3,584.62         \$23.80         \$404.60         \$3,989.22           Sugar Maple         10         10         \$171.53         \$1,715.30         \$23.80         \$238.00         \$1,953.30           Red Maple         10         10         \$178.08         \$1,780.80         \$23.80         \$238.00         \$2,018.80           Shellbark Hickory         17         17         \$243.63         \$4,141.71         \$23.80         \$404.60         \$4,546.31           Chinkapin Oak         4         4         \$178.08         \$712.32         \$23.80         \$95.20         \$807.52           rand totals:         198         198         \$35,752.30         \$4,712.40         \$40,464.70    **For the Justin Stelter bid, the extended pricing calculated by the bidder for Shellbark Hickory does not equal the unit pricing for that line by the specified estimated quantity. Per CoF Instructions for Bidders 19c, quoted unit pricing prevails. The bidder was notified on October.

				Office of Joel Tomlin, III, LLC								
							Calculated extended pricing based					
		Total specified	Total recom-	Quoted unit	Calculated extended pricing based	Quoted unit price per planted tree	on specified estimated quantities				Total value of bid based on	Total value of
		estimated quantities	mended quantities	price per planted tree	on specified estimated	during year no. 1 of	during year no.				specified estimated	bid based on recommended
No.	Variety	at all jobsites	at all jobsites	prior to provisional acceptance	quantities prior to provisional acceptance	maintenance and guarantee period	maintenance and guarantee period				quantities and quoted unit prices	quantities and quoted unit prices
1	Eastern Red Cedar	30	30	\$275.00	\$8,250.00	\$0.00	\$0.00	 			\$8,250.00	\$8,250.00
2	Dogwood	3	3	\$275.00	\$825.00	\$0.00	\$0.00				\$825.00	\$825.00
3	Forrest Pansy Redbud	3	3	\$275.00	\$825.00	\$0.00	\$0.00	 			\$825.00	\$825.00
4	Blackgum	19	19	\$275.00	\$5,225.00	\$0.00	\$0.00	 			\$5,225.00	\$5,225.00
5	Northern Red Oak	21	21	\$275.00	\$5,775.00	\$0.00	\$0.00				\$5,775.00	\$5,775.00
6	Southern Red Oak	21	21	\$275.00	\$5,775.00	\$0.00	\$0.00	 			\$5,775.00	\$5,775.00
7	Shumard Oak	23	23	\$275.00	\$6,325.00	\$0.00	\$0.00				\$6,325.00	\$6,325.00
8	White Oak	20	20	\$275.00	\$5,500.00	\$0.00	\$0.00	·			\$5,500.00	\$5,500.00
9	Sassafras	17	17	\$275.00	\$4,675.00	\$0.00	\$0.00				\$4,675.00	\$4,675.00
10	Sugar Maple	10	10	\$275.00	\$2,750.00	\$0.00	\$0.00	·			\$2,750.00	\$2,750.00
11	Red Maple	10	10	\$275.00	\$2,750.00	\$0.00	\$0.00	·			\$2,750.00	\$2,750.00
12	Shellbark Hickory	17	17	\$275.00	\$4,675.00	\$0.00	\$0.00				\$4,675.00	\$4,675.00
13	Chinkapin Oak	4	4	\$275.00	\$1,100.00	\$0.00	\$0.00				\$1,100.00	\$1,100.00
	Grand totals:	198	198		\$54,450.00		\$0.00				\$54,450.00	\$54,450.00

No. Variety  1 Eastern Red Cec  2 Dogwood  3 Forrest Pansy Red  4 Blackgum  5 Northern Red O  6 Southern Red O  7 Shumard Oak  8 White Oak  9 Sassafras  10 Sugar Maple  11 Red Maple	Cedar 30 d 3	at all jobsites 30 3	Quoted unit price per planted tree prior to provisional acceptance \$304.00	acceptance	Quoted unit price per planted tree during year no. 1 of maintenance and guarantee	Calculated extended pricing based on specified estimated quantities during year no. 1 of maintenance	Total value of bid based on specified estimated quantities and	Total value of bid based on recommended
1 Eastern Red Cec 2 Dogwood 3 Forrest Pansy Red 4 Blackgum 5 Northern Red O 6 Southern Red O 7 Shumard Oak 8 White Oak 9 Sassafras 10 Sugar Maple	specified estimated quantities at all jobsites  Cedar 30 d 3	recommended quantities at all jobsites 30 3	price per planted tree prior to provisional acceptance \$304.00	extended pricing based on specified estimated quantities prior to provisional acceptance	price per planted tree during year no. 1 of maintenance	estimated quantities during year no. 1 of maintenance	bid based on specified estimated	bid based on
1 Eastern Red Cec 2 Dogwood 3 Forrest Pansy Red 4 Blackgum 5 Northern Red O 6 Southern Red O 7 Shumard Oak 8 White Oak 9 Sassafras 10 Sugar Maple	estimated quantities at all jobsites  Cedar 30 d 3	mended quantities at all jobsites 30 3	price per planted tree prior to provisional acceptance \$304.00	on specified estimated quantities prior to provisional acceptance	during year no. 1 of maintenance	during year no.  1 of maintenance	specified estimated	bid based on
1 Eastern Red Cec 2 Dogwood 3 Forrest Pansy Red 4 Blackgum 5 Northern Red O 6 Southern Red O 7 Shumard Oak 8 White Oak 9 Sassafras 10 Sugar Maple	quantities at all jobsites  Cedar 30 d 3	quantities at all jobsites 30 3	planted tree prior to provisional acceptance \$304.00	estimated quantities prior to provisional acceptance	no. 1 of maintenance	1 of maintenance	estimated	
1 Eastern Red Cec 2 Dogwood 3 Forrest Pansy Red 4 Blackgum 5 Northern Red O 6 Southern Red O 7 Shumard Oak 8 White Oak 9 Sassafras 10 Sugar Maple	at all jobsites  Cedar 30 d 3	at all jobsites 30 3	prior to provisional acceptance \$304.00	quantities prior to provisional acceptance	maintenance	maintenance		recommended
1 Eastern Red Cec 2 Dogwood 3 Forrest Pansy Red 4 Blackgum 5 Northern Red O 6 Southern Red O 7 Shumard Oak 8 White Oak 9 Sassafras 10 Sugar Maple	at all jobsites  Cedar 30 d 3	at all jobsites 30 3	provisional acceptance \$304.00	to provisional acceptance			quantities and	
1 Eastern Red Cec 2 Dogwood 3 Forrest Pansy Red 4 Blackgum 5 Northern Red O 6 Southern Red O 7 Shumard Oak 8 White Oak 9 Sassafras 10 Sugar Maple	y jobsites Cedar 30 d 3	jobsites 30 3	acceptance \$304.00	acceptance	and guarantee			quantities and
1 Eastern Red Cec 2 Dogwood 3 Forrest Pansy Red 4 Blackgum 5 Northern Red O 6 Southern Red O 7 Shumard Oak 8 White Oak 9 Sassafras 10 Sugar Maple	Cedar 30 d 3	30	\$304.00		period	and guarantee period	quoted unit prices	quoted unit prices
2 Dogwood 3 Forrest Pansy Red 4 Blackgum 5 Northern Red O 6 Southern Red O 7 Shumard Oak 8 White Oak 9 Sassafras 10 Sugar Maple	d 3	3		$\perp$ $\times$ 0 120 00	\$128.00	\$3,840.00	*	\$12,960.00
3 Forrest Pansy Rec 4 Blackgum 5 Northern Red O 6 Southern Red O 7 Shumard Oak 8 White Oak 9 Sassafras 10 Sugar Maple				\$9,120.00 \$912.00	\$128.00	\$3,840.00	\$12,960.00	·
4 Blackgum 5 Northern Red O 6 Southern Red O 7 Shumard Oak 8 White Oak 9 Sassafras 10 Sugar Maple		2	\$304.00			-		
5 Northern Red O 6 Southern Red O 7 Shumard Oak 8 White Oak 9 Sassafras 10 Sugar Maple		3	\$304.00	\$912.00	\$128.00	\$384.00	\$1,296.00	. /
6 Southern Red O 7 Shumard Oak 8 White Oak 9 Sassafras 10 Sugar Maple		19	\$304.00	\$5,776.00	\$128.00	\$2,432.00	\$8,208.00	
7 Shumard Oak 8 White Oak 9 Sassafras 10 Sugar Maple		21	\$304.00	\$6,384.00	\$128.00	\$2,688.00	\$9,072.00	
8 White Oak 9 Sassafras 10 Sugar Maple		21	\$304.00	\$6,384.00	\$128.00	\$2,688.00	\$9,072.00	\$9,072.00
9 Sassafras 10 Sugar Maple	Dak 23	23	\$304.00	\$6,992.00	\$128.00	\$2,944.00	\$9,936.00	\$9,936.00
10 Sugar Maple	ak 20	20	\$304.00	\$6,080.00	\$128.00	\$2,560.00	\$8,640.00	\$8,640.00
U I	s 17	17	\$304.00	\$5,168.00	\$128.00	\$2,176.00	\$7,344.00	\$7,344.00
11 Red Maple	ple 10	10	\$304.00	\$3,040.00	\$128.00	\$1,280.00	\$4,320.00	\$4,320.00
1 1 Itea Maple	le 10	10	\$304.00	\$3,040.00	\$128.00	\$1,280.00	\$4,320.00	\$4,320.00
12 Shellbark Hicko	ckory 17	17	\$304.00	\$5,168.00	\$128.00	\$2,176.00	\$7,344.00	\$7,344.00
13 Chinkapin Oa	Oak 4	4	\$304.00	\$1,216.00	\$128.00	\$512.00	\$1,728.00	\$1,728.00
Grand totals	als: 198	198		\$60,192.00		\$25,344.00	\$85,536,00	\$85,536.00